
Friday 27th March 2020 

Maths 

Here are yesterdays answers.  

1. 32 - 12 = 20 

2. 14 - 4 = 10 

3. 18 - 10 = 8 

4. 21 - 10 =11 

5. 25 - 14 = 11 

6. 43 - 41 = 2 

7. 34 - 20 =14 

8. 51 - 41 = 10 

9. 65 - 30 = 35 

10. 49 - 40 =9 

The next set you will need to exchange from the tens. So when you take the ones, you 

will need to exchange from the tens column, don’t forget to cross off the tens number 

and write how many are left. For the first one, we cannot take 7 away from 4 so borrow 

a ten from the 3, cross it off and write two. Now you can take the ones away 

1. 34 - 17 =  

2. 65 - 26 = 

3. 24 - 18 =  

4. 36 - 17 =  

5. 48 - 19 =  

6. 24 - 18 = 

7. 28 - 19 =  

8. 23 - 17 =  

9. 45 – 36 =  

** Challenge **    99 – 10 – 13 =  

English  

Yesterday we looked at using apostrophes for contraction, today we are going back over 

how to use apostrophes for possession, remember that this tells us what belongs to 

who. 

https://www.youtube.com/watch?v=6Qmy42V1ujo 

Bellas ball = Bella’s ball  Bens dog =  

Freds horse =    Dans bed =  

Samuels car =    Jons pencil =  

** Challenge**  Write some sentences using these or your own possessive apostrophes.  

https://www.youtube.com/watch?v=6Qmy42V1ujo

